
public int berechneSumme(int a, int b, boolean was)=> berechneSumme int int boolean
Signatur:*) Methodenname*) Datentypen der Parameter (REIHENFOLGE!)
1. public int berechneSumme(int a, int b, boolean was)2. public int berechneSumme(int a, int b)3. public int berechneSumme(int a)4. public boolean berechneSumme(int c, int d, boolean q)5. public int berechneAdd(int a, int b, boolean was)6. public void berechneSumme(int r)7. public void berechneSumme(int a, boolean was, int b)
berechneSumme(2, true, 5) => 7berechneSumme(3, 5) => 2berechneAdd(2, 9, true) => 5berechneSumme(false, 2, 3) => nicht vorhanden!


